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Please show work on all questions for full credit & partial credit. (20 total pts)
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1. Complete the following reaction (10 pts) @(b F’*&;’f’?{ z )/

a. Molecular reaction (formula equation) (hint: look at your solubﬂ}t{f rules table) (6 pts, 3 pts each)

2 CO3 aClh A NV 2’ i/% ;o
K2COs + CaCh >  La ( 2(_(’)+ - @m

b. Give the complete ionic reaction of the reaction above in (a) (2 pts)
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c. Give the net ionic reaction of the reaction above in (a) (2 pts)

o

2. Given the reaction below and assuming complete dissociation and complete reaction (6 pts)

2HCl(aq) + Ba(OHp(aq) = Ba Ch(aq) + 2HO()

If you start the reaction with 23.5 mL of 0.1 M H CI solution, assuming that the HCI is the limiting reagent,
how many grams of the Ba Clz (FW Ba Cla = 208.23 g/mol ) will you make assuming complete reaction.
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3. Give the oxidation state in the following reagents. S\EO\WW’T)TE or explam (4 pts, 1 pt eacj e ‘j’:wi\
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Extra Credit: (4 pts) In the following redox reaction, fill in the blank with elther (A) being reducecl (B)
being oxidized. Note the oxidation states given above the elements
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lTbomco > Pb + CO
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L. Complete the following reaction (10 pts)

a. Molecular reaction (formula equation) (hint: look at your solublhty rules table) (6 pts, 3 pts each)

). Ba (OHy +JAICl; > N (0 ¢ )+ > o u},/ @H#W
74

b. lee the complete ionic reaction of the reactlon above in (a) (2 pts)
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c. Give the new ionic reaction of the reaction above in (a) (2 pts)
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2. Given the reaction below and assuming complete dissociation and complete reaction (6 pts)
H2SO4 (aq) +2LiOH (aq) > Li2SOs(aq) + 2H20(D)

If you start the reaction with 79.2 mL of 1.32 M H2SOj4 solution, assuming H2SOys is the limiting reagent,
how many grams of the Li» SO4 (FW Liz SO4 =109.95 g/mol ) w111 you make assuming complete reactlon
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3. Give the oxidation state in the following reagents.
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Extra Credit: (4 pts) In the following redox reaction, fill in the blank either (A) being reduced” (B)
being oxidized. Note the oxidation states given above the elements

Zéro +1 -1 -+\-l2/ -1 Zero e hw \};

Mg + HCl > MgClh + }iz
€]

e A
‘_EL L 2(+] &)




